Academic Algebra I

Chapter 2 Review (pgs 121-124)
CHAPTER REVIEW CABDLARY,
VOCABULARY!!!!
REVIEW KEY VOCABULARY
= whole numbers, integers, positive « additive identity, p. 76 » multiplicative Inverse, p 103
integer, negative integer, p. 64, 4qditive inverse, p. 76 » SqUare roo|, dadiaandey. 110
= fational number, p. 64 « multiplicative dentity. p 89 » perfect square, p 11/
- Opposites, absolute value, p.66  , g alonmonpscaRE—- « irrational number, p. 111
Ol e « distributive property, p 96 « real numbers, p. 112
el iRt + term, coefficient, constant term,  ~Sibuiampeinis
iyl gt like terms, p a7
PLUS:

e Properties: associative, communitive, distributive, identity, inverse, property of O, property of -1.
e Chapter 1: solve, evaluate, simplify, equations, expressions, factors, terms.

VOCABULARY EXERCISES
Identify the terms, coefficients, constant terms, and like terms of the
expression.
I. =3x—5—=—78—9 2. =I0c= 6+¢
Tems: A3X,“S. .-7x a—q _'oa‘ '-'G‘ C
f /4 T 7 7
Coefficients: _5, -1 '_" {)! !

—

Constants:

= g
Like Terms: (3)(. "7)‘) and F?._"q\) :-_/OC ‘L?.)
e —g pe —

Tell whether the number is a real number, a rational number, an irrational
number, an integer, or a whole number.

3. 0.3 4. =Vl 8. =15 6., V49
Real ##: yes yes yes yes
Rational: yes no yes yes
IRRational: no yes no no
Integer: no no yes yes
Whole #: no no no yes
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REVIEW EXAMPLES AND EXERCISES

Use the review examples and exercises below ta check your understanding of
the concepts you have learned in each lesson of Chapter 2.

EXERCISES

Order the numbers in the list from least to greatest.

; 0 o 3
8. 21,10 0 1,38, =

For the given value of a, find —a and |al.

9. a=-0.2 0. a=3 1. a-‘-’ 12. u=—f’l

—ae@ 0@ -a(d)
\al ’-‘-@ la\ (3 ]al 7-‘

EXERCISES
Find the sum.

> e
W "
0

13. -2+ 5 @ 4. 6 + (—4) 15. 6.2 + (-9.7)
. 20y o 48 SS
16. —4.61 + {—0.79) m-3+(-2] . 8% r* P . +
|=5.41 ' f‘f a2 Lo

19. BUSINESS A company has a profit of $2.07 mlllmn in its first year, =
$1.54 million in its second year, and —$.76 million in its third year,
Find the company’s total profit for the three years,

+2.07 ASY =, 76 = -2,5+3:07 =~0.aD

—-:‘_":_'_—_.-.—u
|- $0- 23 Toel ﬂ"*ﬂ
-
Find the difference,
20. -8-3 £ 2. T=1 90 22. 7.7 -.16.3
2y 7_1 4"‘")‘5 +
23, —20.3 — (—14.2) 24. N -—j_ 25. _9 2
- H_UL ':LS: =
; 3(0 + o
or
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Evaluate the expression whenx = 2 and y = —3.

26, (x - 7)1+ y 27 ;‘_—x«y 28, y— (24 —x) (__3) i [_2. " A (’?):\ =
[@-T0+63 2G)(4)- -3 =L .4} =

-S+-3 _ ~ =
: S 462 43 7 o=
452 @3S o2 C) 39
Find the product.

- R
28, 15(-4) (o) 30. ?.5(--31 31. ‘;,{ 89

Find the product. fssiifpoistopee

32. —4(-P(-7) 33. %x-( -m@ 34. 2.5(-42)( 2}

35, SWIMMING POOLS The water level of a swimming pool is 3.3 feet and
changes at an average rate of —0.14 feetl per day due Lo water evaporation.
What will the water level of the pool be after 4 days? P

3.8 Y =1) = 3% =806 2745y weter level
o $e- Y devs

(4]

Use the distributive property to write an equivalent expression.

ey
36. 805 - x) Lfo—fsi = 37. -3y +9 @ 38. (z ?zl —Zl+q;:
Simpif!\the expression, - ey
39. 3(x 2)+ 14 40. 9.1 4k + 3.2) 41. 5n + 3(8n - 7)
3x -+ Q.| -4m-12.8 SnttN — 7/

GQu 71 o«
Hm -3 3 _
42. PARTY COSTS You are buying 10 pizzas for a party. Cheese pizzas cost

511 each, and single topping pizzas cost $13 each. Write an equation that

gives the total cost C (in dollars) as a function of the number p of cheese
pizzas that you buy. Then find the total cost if you buy 4 cheese pizzas,

KX
" |0 pizza's EQ.0 = 16®13) — ($13-1) P

Cheese — Pl L) {E___. 130 _3[5—[
fﬁnalc ﬁpp{a?’-i’lz) =L
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C= +otel cost (F)
P = ¥ oS Cheesepiza's

Clost  Fyon buy U clgsiie PiZTecs
=1% —2(4) = [22

e

@a,-l—; $122 Fae Pizea)




Find the quotient.
43. 56 © | 4] 44, 4 3 45. 1 - -2 |

— s ot 4 1
- o %. 24D

3/i 3,9/' Z/

46. SCIENCE A scientist studies the diving abilities of three seals and records the
elevations they reach before swimming back up to the surface. Find the mean

of the following elevations (in meters) recorded: ~380, 307, 354, —

—~330+—-307 +~38% _
e =5

L 343 m 1sthe

nlecn CJCP—H"

Simplify the expression.

24x — 40 ~36m + 18 ~18n -9

a7, 240 4, oM 110 19, =128
24X 4o ~3Cm  \E ~1&N -9,
5+ ¢ & © =5 T -4

3x-S

Evaluate the expression.

50. \ 121 I 1\ l 51, —\ 36 [_g,’ 52, +yv8l )j:ql 53. *\225 | =+ 18

Approximate the square root to the nearest Integer.

54. 197 55. —\ 48 56, —\ 142 57. 1300
G - (e G~ (B 7 J’si
\

. (3%~ [
o> (-4 I
Order the numbers in the list from least to greatest,

58. -\49, -6.8,2,13, 1.58 59. 1.25 V11, —0.3, 0, —V4

S |
@’ h5%, 13,2 - (4, =30, 135, {n
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